RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Nation to enter into a Memorandum of Understanding with Pro Neighborhoods to release funds for the Tohono O'odham Youth Services)

		RESOLUTION NO. <u>99-551</u>
1	WHEREAS,	the Tohono O'odham Nation is presently operating the Tohono O'odham Youth
2		Services (Youth Services) Program under an agreement with United Way of
3		Tucson to have Pro Neighborhoods serve as an intermediate between the Nation
4		and United way; and
5	WHEREAS,	the purpose and goals of the Youth Services is to promote and encourage
6		education, physical fitness, cultural enrichment and overall personal
7		development for and among Tohono O'odham youth; and
8	WHEREAS,	the Memorandum of Understanding submitted by Pro-Neighborhoods
9		specifically refers to the amount of \$4,107.00 which is the final allocation of the
10		three year funding cycle 1997-2000; and
11	WHEREAS	the Memorandum of Understanding has been reviewed and approved by Grants
12		& Contracts and the Executive Branch legal counsel; and
13	WHEREAS,	the Tohono O'odham Legislative Council adopted Resolution No. 99-442
14		approving the Youth Services FY 1999-2000 United Way budget indicating the
15		service allocation amount of \$4,107.00; and
16	WHEREAS,	the Tohono O'odham Nation must submit the Memorandum of Understanding
17		before funds are released to the Youth Services; and
18	WHEREAS,	in addition to these Pro Neighborhood funds, United Way has agreed to provide
19		the sum of \$10,989.00 for related Youth Services.
20	NOW, THEF	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council agrees
21		to the terms and conditions of the Memorandum of Understanding between the
22		Tohono O'odham Nation -Tohono O'odham Youth Services and Pro-
23		Neighborhoods.
24	BE IT FUR	THER RESOLVED that the Chairman of the Nation is authorized to enter into

	RESOLUTION NO. <u>99-551</u> (Approving the Nation to enter into a Memorandum of Understanding with Pro Neighborhoods to release funds for the Tohono O'odham Youth Services) Page 2 of 3						
1	agreement with Pro Neighborhoods and to receive the sum of \$4,107.00 directly						
2	from from Pro Neighborhood and the sum of \$10,989.00 from United Way to be						
3	expended through the Tohono O'odham Youth Services program, consistent						
4	with established policies and procedures.						
6 7 8 9 10	foregoing Resolution was passed by the Tohono O'odham Council on the <u>30TH</u> . day of <u>FEMBER</u> , <u>1999</u> at a meeting at which a quorum was present with a vote of <u>2,101,45</u> FOR; AGAINST; <u>64.05</u> NOT VOTING; and <u>[04]</u> ABSENT, pursuant to the powers vested in the ncil by Section 1 (f) of Article VI of the Constitution of the Tohono O'Odham Nation, pted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting outy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to ion 16 of the Act of June 18, 1934 (48 Stat. 984).						
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL						
14							
15	A I						
16 17	Dennis Ramon, Legislative Chairman						
18							
19	1st day of October, 19 99						
20							
21							
22 23	ATTEST:						
24							
25	Almine M. San for						
26	Julianna Saraficio, Acting Legislative Secretary						
27 28	20 - + /						
29	30 day of September, 1999.						
30	V						
31	Said Resolution was submitted for approval to the office of the Chairman of the Tohono						
32	O'Odham Nation on the 1 st day of October, 19 <u>99</u> at 2:57						
33	o'clock, <u>P</u> .M., pursuant to the provisions of Section 5 of Article VII of the Constitution						
34	and will become effective upon his approval or upon his failure to either approve or						
35	disapprove it within 48 hours of submittal.						
36 27	TOHONO O'ODHAM LEGISLATIVE COUNCIL						
37 29							
38 39	\cap \land						
39 40	Dam Kan						
41	Dennis Ramon, Legislative Chairman						
42							

	RESOLUTION NO. <u>99-551</u> (Approving the Nation to ent Neighborhoods to release fu Page 3 of 3	ter into a Memorandum of Understanding with Pro Inds for the Tohono O'odham Youth Services)
1	[X] APPROVED	on the 4th day of October, 1999
2 3 4 5 6 7 8 9 10 11	[] DISAPPROVED	at <u>10:21</u> o'clock, <u>A</u> .M. <u><u><u>Minol</u></u> EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION</u>
11		<i>, ,</i>
13	Returned to the Legislative	e Secretary on the <u>D6</u> day of
14	Artoly	_, 19 <u>99</u> , at <u>11:04</u> o'clock, <u>A</u> .M.
15 16	Jawa	, 19/, at <u>_//*/</u> o'clock, <u></u> .M.
10	$h \rightarrow ch$	
18	flure M. Slor	in for
19	Julianna Saraficio, Acting I	
20		
21		
22		
23		
24		
25		
26		
27 28		
28 29		
29 30		
31		
32		
33		
34		
35		
36		
37		
38		
39		

ACTION: APPROVING THE NATION TO ENTER INTO A MEMORANDUM OF UNDERSTANDING WITH PRO NEIGHBORHOODS TO RELEASE FUNDS FOR THE TOHONO O'ODHAM YOUTH SERVICES

MOVED: COUNCILWOMAN FRANCES ANTONE

SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: SEPTEMBER 30, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	х			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	x			
SELLS 372.7	1. DENNIS E. JOSE	186.35	X			
	2. EVELYN JUAN ()	186.35	x			х
SCHUK TOAK 133.4	1. MARY FLORES	66.7	x			
155,4	2. AMBROSE ENCINAS	66.7	х			x
SAN XAVIER 165.9	1. TONY BURRELL	82.95	x			
105.9	2. DENNIS RÁMON	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	x			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	x			
GU ACHI	1. CAMILLUS LOPEZ (Louis Johnson)	104.8	х			
209.6	2. ALEX J. RAMON	104.8	x			X
PISINEMO 156.8	1. BARBARA SALVICIO (Alex Antone)	78.4	х			
130.0	2. JOHNSON JOSE	78.4	x			x
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	x			
128.1	2. GLORIA RAMIREZ	64.05			x	
GU VO	1. FERN SALCIDO	80.0	x			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	x			
HICKIWAN	1. ALEX JOSE	79.05	x			
158.1	(Shirley Santos) 2. LLOYD FRANCISCO (Susan Sam)	79.05	x			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	x			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			
Т	OTAL	2,165.5	2,101.45	-0-	64.05	[04]

****PASSED VOTES**